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SN LAt
M OE AS OHF
2l HHIIEAIE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o =4k 9,700,277 9,801,651 101,374
= 1,023,020
Al 360,890
[Ea 8,316,367
HE 45 oHF 5,985,198 5,490,370 494,828
= 830,520
Al 314,640
= 4,840,038
2IIBAIE &Y 1,833,355 2,337,736 504,381
= 819,033
Al 157,744
o 856,578
A0S 2EXE 130,000 130,000 0
307 212+01& 130,000 130,000
02 LB HAHEE 130,000 130,000
oA 2EX & 130,000,000 130,000
LADBIAIE &4 38,000 38,000 0
Al 9,500
[Ea 28,500
307 el2to| & 38,000 38,000 0
Al 9,500
o 28,500
02 QIHEHAIEE X 38,000 38,000 0
OLADIBIAIE (LA e - BS2
X X&) 38,000,000& 38,000
Al 9,500
[Ea 28,500
LAINE 2el(HE) 300,000 300,000 0
401 AlZHIZL SO 300,000 300,000
01 Al&HI 300,000 300,000
OANE Hatate 300,000,000& 300,000
oo 2 S 150,000 150,000 0
= 120,000
Al 30,000
401 Al HIZ R 0HbI 150,000 150,000 0
= 120,000
Al 30,000
01 Al&HI 150,000 150,000 0
O 2BHOT A 202 (1001 & 2= AIR)
150,000,000 150,000
= 120,000
Al 30,000
OIS - CHAIDH k&) THoll28 X1 60,000 60,000 0
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M HE aS otE
2l HHIIEAIE =4 EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
307 QI2HOl A 60,000 60,000
06 23 60,000 60,000
O0I< - CHAIDE 24 THol 28 X1
60,000,000 60,000
A MEY A= XK~ 20,000 20,000 0
401 Al&HIZ 20| 20,000 20,000
01 AlEHI 20,000 20,000
OXgE M= NS X1 & 2l
20,000,000& 20,000
SN THoHEE X2 40,000 40,000 0
307 QI2H0| A 40,000 40,000
P ECE 40,000 40,000
OSALA LS X
40,000,000 40,000
LI HE==X3 At 56,736 56,736 0
Al 28,368
i 28,368
307 gIzHol 56,736 56,736 0
Al 28,368
= 28,368
02 QIRHEAAIHEE X 56,736 56,736 0
OUEHge! ZF==X& At
56,736,000& 56,736
Al 28,368
= 28,368
ol =X AlE 22l 40,000 40,000
401 AIEHIL 2 0HYI 40,000 40,000
01 AlEHI 40,000 40,000
ougel =X Ald 2el 40,000,000 40,000
FSHEH HEAEHESIMY 998,619 0 998,619
= 699,033
Al 89,876
i 209,710
307 gI2Hol ™ 600,000 0 600,000
= 420,000
Al 54,000
i 126,000
05 QIZtRIEIS 600,000 0 600,000
OUAHEZZE 29 600,000,000 600,000
= 420,000
Al 54,000
= 126,000
401 AIEHIZ 2018 398,619 0 398,619
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=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 279,033
Al 35,876
s 83,710
01 Al 398,619 0 398,619
OO EAIE EHI S H/WAIE
398,619,000 398,619
= 279,033
Al 35,876
o 83,710
U AHEES & &F 266,900 266,900 0
Al 133,450
T 133,450
OS2 (HE) 250,000 250,000 0
Al 125,000
= 125,000
206 MH=H| 250,000 250,000 0
Al 125,000
Ea 125,000
01 M=4l 250,000 250,000 0
OS2l (F=ASINY 2R)(HE)
250,000,000& 250,000
Al 125,000
s 125,000
SJtAtel Al 16,900 16,900 0
Al 8,450
= 8,450
307 elztol & 16,900 16,900 0
Al 8,450
[Ea 8,450
02 2IZHBYAIAE & 16,900 16,900 0
OSItAtel Al At 16,900,000 16,900
Al 8,450
o 8,450
HEgAd &= 2,701,300 1,494,500 1,206,800
og &sl 2,151,300 1,294,500 856,800
201 2= 31,800 10,000 21,800
01 AtR2t2lt] 21,800 0 21,800
OAZERN Fbl 600, 0002 *3H 1,800
OOIEAIE & A 20,000,000& 20,000
02 S3=gl 10,000 10,000 0
O0g atdie A= =Xl
10,000,000 10,000
307 212+01& 145,000 130,000 15,000
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05 2ItRIE = 145,000 130,000 15,000
oog S gerae|ss 145,000,000 145,000
401 AlEHIZ S 0HBI 1,974,500 1,154,500 820,000
01 AlZH| 1,970,000 1,150,000 820,000
O0f8 2 2ot Lj oEAIEE F
300,000,000& 300,000
OZHH & FHHISAHEIIAHSE)
100,000,000 100,000
O Og T.T.p 22 SAt
1,100,000,000& 1,100,000
OZL oliet=2 Lfets ZXISAF &AIEH
100,000,000& 100,000
ONYe T.T.P EXISAt AAIENA
300,000,002/ 300,000
OR4s ZHBA AAIEH
70,000,000& 70,000
03 AIZ S THYI 4,500 4,500 0
OO &2 = NS FH (FALT) Y
4,500,000 4,500
a2 0E AHE 400,000 0 400,000
401 Al HIZL S 0HYI 400,000 400,000
01 Al&HI 400,000 400,000
2HE =ESA 100,000,000 100,000
OZESE 2= FHIZA
300,000,000 300,000
=S LM 2L 3At 150,000 200,000 /50,000
401 Al HIZ S OHbI 150,000 200,000 50,000
01 AlZ2H| 150,000 200,000 /50,000
O=s8 LI 223 A
150,000,000 150,000
ot 2 X3 876,325 889,835 213,510
= 88 SO0M A X1 30,000 30,000 0
307 glztol & 30,000 30,000 0
04 QIZHHANAIS 2 30,000 30,000 0
OJidz 85 SO0IM A
30,000,000& 30,000
SO MAA AR 2E 10,800 10,180 620
201 ZBt=Ehl 8,100 7,480 620
01 AtR2t2|HI 8,100 7,480 620
Oget+=EHI 4,200
—Lap Y2 PSR
7,500 25122 180
—HNAHSBINE ANEIE Y 22EF
= 4,020,000& 4,020
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84,192
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800
600
200

2,376
84,192

16,280
12,173
9,346
2,827

2,160

960
1,200

315

27
288
816
216
600
432
384

2,647
2,647

640

152
671

160
256

768
65,265
30,422

29,295

1,127

6,761

2,641

441

25,000

- HyS

- SRA(E) - HIRAY

SRR

2,400,000

150,000 x4 H

—_

110y
K]
ol

50,0003 *4H

198,000 « 122

30
U
[0
M0

= HAl

9,345,710&
2,826,410&

8,000 10kWx 123
2003 «500kW* 122

11
H

2,2008+128
800 30m" « 12

]
KJ
R0
50

18,0002« 10412
50,000 »1CH= 128

10y
KJ
pdl
O-

36,0003 x1CH= 128

@

16,0002 <20~ 122

OAE8Z IS X

A& =X

<
o

0
i
RO
E

4,000,000 *2CH 8%
1,900,000 *1CH 8%
4,190,000 »2CH *8%

- clloICt

2,000,000 1CH+8%
1,600,000 *2CH +8%

- ZetoZ2 8 XD

4,800,000 *2CH *8%

J12= Xl

236

k

<J
ji/s

22,5343 +1,300hp
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22,5343 +50hp

i
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— 4237
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10,0183 +24&
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Rl =ity 2E X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 50,300 50,300
01 Al&H| 50,300 50,300
O0YXE=H dHM==cl 25,300,000& 25,300
ONgXZd Jl&t=c| 25,000,000 25,000
HEAZ L&A HAS 20,000 20,000 0
307 @I2to| & 20,000 20,000
02 QB HANSEER 20,000 20,000
ONEAZE A&l At 20,000,000& 20,000
el RFl X 420,000 420,000
307 glztol & 420,000 420,000
02 LB HAHE L 420,000 420,000
oogel 2F41 X 420,000,000 420,000
FAAZ GO AL K2 15,000 15,000
307 el2tol & 15,000 15,000
02 2B YAIHE A 15,000 15,000
O=4tdd &0l AL X3
15,000,000 15,000
HEOER o= A& 100,000 100,000 0
307 212+01™ 100,000 100,000
02 LB HAHE L 100,000 100,000
OHEAHEX A+ X 100,000,000 100,000
JIHEX Matel H3t X3 80,000 80,000 0
307 lztol & 80,000 80,000
02 2B YA HE X 80,000 80,000
OJIFEX] Mok A3t Kd
80,000,000& 80,000
FARSHHE R 24 9,200 7,700 1,500
201 fer= 3| 8,000 6,500 1,500
01 At 2|l 8,000 6,500 1,500
Oget=EH| 8,000
—NE UNY EE % A S
50, 000& »200H 1,000
—=btE FAA EALMIE
1,500& 1,000 1,500
—UE BFUXEHA S22 S
3002 #5,000 1,500
—=NE EE2 V183 HMHE S
4,000,000 4,000
202 04l 1,200 1,200
01 =LHA LI 1,200 1,200
O=bt7 S EES 0|
20,0003 =2H+3& 102 1,200
LIEOgel J&IX Ast 8,000 8,000 0
307 21201 & 8,000 8,000
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M OE 45 oM
Rl =ity 2E X3 EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 8,000 8,000 0
OoL&ENgel JaX As 8,000,000& 8,000
LiEogel dEHl X3 10,000 10,000
307 el2to| & 10,000 10,000
012z & 2=Hl 10,000 10,000
oudogel &4 dgHl X
10,000,000& 10,000
Nee|oed SSH L& As X2 9,000 9,000
307 212+01& 9,000 9,000
02 LB HANHEE 9,000 9,000
OXE2elod SSH &&X HAst X2
9,000,000& 9,000
OE2Zedst 294,974 294,974 0
= 11,487
Al 23,446
= 260,041
JIHEEXIEH 120,000 120,000 0
307 glztol & 120,000 120,000
04 CIZHHAMAIH 2 & 120,000 120,000
OJIHEXI=AN 120,000,000 120,000
JESHU=M 80,000 80,000 0
Al 20,000
o 60,000
307 @I2t0| & 80,000 80,000 0
Al 20,000
o 60,000
04 QIZIHAIAIH E X 80,000 80,000 0
OIS EH=M 80,000,000 80,000
Al 20,000
= 60,000
JIE 01 - CHAIDE =X 72,000 72,000 0
307 elztol & 72,000 72,000
04 CIZHHAMAMH 2 & 72,000 72,000
OJ1& 014 - CHAIOE =HI 72,000,000 72,000
HEXNE0E ARE HE XN 22,974 22,974 0
= 11,487
Al 3,446
[Ea 8,041
307 el2to| & 22,974 22,974 0
= 11,487
Al 3,446
= 8,041
02 2B YA E X 22,974 22,974 0
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FA oAbt
Hu: a2 REDD
R USNtE Butg (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M2 ASF L 1,000 1,000
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
Ox=ttE AlE7 | 1,000,000 1,000
OE0ts 243t 100,000 18,000 82,000
OlE XY 2l 100,000 0 100,000
401 Al HIZ S OHbI 100,000 0 100,000
01 A28l 100,000 0 100,000
OO0E 2 B2+ 100,000,000 100,000
HotetE HH| 63,763 63, 166 597
SHR=H 2l 63,763 63,166 597
SerrH 29 63,763 63,166 597
101 @124H| 25,423 24,826 597
MU IIRINZZE2NSES 25,423 24,826 597
Os==H, Hg+4, HEAE S 22l JI
ZHRl 22 & 24,103
—Q2Y 90,2643 x1H #2400 21,664
— & HEE 21,664,000 1% 2177
—NEEE 21,664,000& *1.75% 380
—UASES 21,664,0002 *4. 5% 975
—JdAEE 21,664,000 *3.545% 768
—LFIRAEE 768,0002%12.81% N9
OJI2tH 22X M<IH&H] 1,320
—=SAENE 300,000 x12H 13 300
—g&4d0=s 300,000& x1H*13] 300
—2HAHI 3,0003 18 =240 720
201 =3 37,700 37,700
01 At2t2ltl 34,600 34,600
Oggt=3ZH| 25,000
-SSR+ S5
200,000 »252 X 5,000
—HYUHEL HIS(HOISX2lE ZE)
50,000& »400m* 20,000
Oxtg &xt=z 800,000 = 1CH+ 122 9,600
02 S5=2g4l 3,100 3,100 0
OXtg S&Hl & 2]
175,000 x1CH* 122 2,100
Oolgr & oot SA2FHI(01E X 1ot
IRz 8) 1,000,000& 1,000
202 04| 640 640
01 =LHO LI 640 640
O otze] 20,0002 x2S 22 +8E 640
oLt 22| 1,178,862 1,162,228 26,634
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S ofee 2l
el oMl Eol EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 192,500
Al 46,250
= 40,112
oM D &I 1,078,862 1,034,228 44,634
= 92,500
Al 46,250
[ 90,112
2RI H & X el 5,000 5,000
201 B2 AY| 5,000 5,000
01 A=R2teld| 5,000 5,000
OgXIHA Hel 5,000,000& 5,000
o MYD| HIAS 125,000 120,000 5,000
= 62,500
Al 31,250
[ 31,250
307 212+01™ 125,000 0 125,000
= 62,500
Al 31,250
= 31,250
05 QIZtRIEr S 125,000 0 125,000
OHY|I=*IE X eldl 125,000,000& 125,000
= 62,500
Al 31,250
= 31,250
oEd Al 833,862 805,315 33,547
101 2124 d| 609,011 465,515 143,496
M IIZINZ2Z2 NS Es 609,011 465,515 143,4%
Oofetd 2ZAl & Hatgs 59,211
—QoI12¢e] 90,2643 x23H +248 514,866
—dHHEE 514,866,000 * 1% 5,149
—1E25H 514,866,000 *1.75% 9,011
—=0IHA3EH 514,866,000& *4. 5% 23,169
—=20HLEE 514,866,000 *3.545% 18,252
—LoAIIQUEE
18,252,000& %12.81% 2,339
—2tAlH| 3,000 x23%H 243! 17,112
—I/=4l 5,313
OFOIAZED)] 30,0003 x23F 1 690
AAD(HES) 14,0002 x23H + 1 322
- HAR(SR) 60,0003 x23H 1 1,380
- 2Ete 20,0002 x23H 460
orM ot 40,0002 +23H 12 gl 920
- 29 20,0002 x23H 460
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Rl oHFMIDl EBI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
erM &2t 20,0002 »23¥ 460
et 7,000 «23*1& ¢ 161
OFZ OtE 27| 20,0003 x23H 1 460
OJIZHH 22X M<LIH&H] 13,800
—=SXEE 300,000 x23& *13] 6,900
—g&4d0= 300, 0002 «23H 12 6,900
201 eer23y| 71,091 33,600 37,491
01 AtR2te|HI 51,151 18,000 33, 151
Odgt==d| 21,551
—HAES S 78 21,551,000& 21,551
ogxz 29,600
—oMe Il FHl S| Sxi= 29,600
- SAD(REAZ, EHOIOIAL) 0.6m3
765,00021 1 CH#202 15,300
CAJCRO(HAZ)
715,000 = 1CH*202 14,300
2 352484l 19,940 15,600 4,340
OF Xt 2eld] 17,600
—=A24| 17,600
-5.58 U2 I
180,000, 0002 *1CH*8% 14,400
- 3.58 UEZdIY X
40,000,000 » 1CH*8% 3,200
Odfletatadtl 224 & &Jlg 2,340
—dIIes 65,0003 *3H A+ 1204 = 2,340
307 @I2to| & 158,760 305,000 A146,240
05 git?(& = 168,760 305,000 A146,240
OHI =& Xl 270,000 x588 & 168,760
gLl =MDl XMl 50,000 72,000 A22,000
307 glztol & 50,000 50,000 0
05 2IMRIE =3 50,000 50,000 0
OmJIE <IE XY
e1ef 2 xel 25,000,000 «20H A 50,000
FetollSt HIIZ HE A 60,000 31,913 28,087
= 30,000
Al 15,000
= 15,000
101 @124H| 59,840 31,685 28,155
= 29,920
Al 14,960
T 14,960
M ORNZZ2NSE S 59,840 31,685 28,155
OFefaiet HII= HWSAE JIZtMZ22 4
gy 57,440
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- 9,860% x4 *1,285A( 2+ 50,681
= 25,340
Al 12,671
= 12,670
— e 50,680,400 *1.00% 507
= 253
Al 127
= 127
SIE ===k 50,680,400 *1.75% 887
= 444
Al 221
= 222
—=3243 50,680,400 *4.5% 2,281
= 1,141
Al 570
= 570
—=30AH2AEE 50,680,400 *3.545% 1,797
= 898
Al 450
= 449
— L OIE )| Qo
1,796 ,5203 *12.81% 231
= 116
Al 57
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— 1=l 264,000 +4H 1,056
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OF<oliet HIIZ2 HSAHY JI2ZHHZ22 Xt
X L IHAH| 2,400
—ZEAMNHS 300,0002 x4 H*13] 1,200
= 600
Al 300
= 300
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= 300
201 L2 | 160 228 ABB
= 80
Al 40
= 40
01 ArR22ltl 160 228 AB8
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o R s
el oile=E 2c (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 77,100 65,200 11,900
O=s2= & HAl 67,100
— == 2,400,000 12& 28,800
M= 2,400,000~ 128 28,800
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